Expand and simplify OR Factor

You need to have these two skills to be prepared for the next section.
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ANSWERS

Use the answers to check your work. If you get one incorrect, go back and find that mistake!

1) x*-3x-4

2) x*+5x+6

3) x*—6x+5

4) 6x°~x-2

5) 6x>~11x+3

6) 4x*+19x-5

7) 4x*-25

8) 4x’—-20x+25

9) x*-2x+1

10) 9x* +12x+4

11) 11x* +15x-10

12) 24x +6x—13

13) x(4x* —10x+7)

14) 8x*(2x—1)

15) (2x—3)(2x+3)

16) 2(x-3)(x +3)

17) (5x-3)?

18) 2(x —3)*

19) (x—7)(x+5)

20) (x+3)(x+4)

21) (x—16)(x—1)

22) DNF

23) (4x+3)(3x+1)

24) Bx—2)(5x-1)

25) (8x +3)(5x+4) |

26) (12x —1)(x +5)

27) 20x” +20x — 24

28) 4x* +6x —14




Warm (p:
L4 Usc the DESMOS to graph the Parabola. Jus’c Providc a sketch on the paper, showing the zeros.
L4 Usc the graPh to determine the zeros.

¢ F[actorthe cquation according to the type of cxprcssion (common, 5imp|c, tricl(g, difference of squarcs).

Standard G"aPh Zeros/ Solutions/ Factored Equa’cion
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What is the rclatlonshrp between the zcros/solutfons/x—intcrccpts and the factors?

cpccf;?kl@ m&@@r ot sof Zack badel =0 Hop wWve.

Hmt if the Factor was (x— 6), what would the corrcsPonc]mg zero be? __b _
if the factor was (x+ 49, what would the corrcsPondmg zero be? R
if the factor was x, what would the corrcsPon&ing zero be? o

if the factor was (2x~ %), what would the corrcsPonding zero be? ____}7[1__
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Dayl:  Factored Form
We have already seen two different forms of the equation of a quadratic relation:
1. Slendaret f‘\ZDfmA %CC\&Z"HD)C‘&C—

2. Verex  Hrm = 6-(9::&1‘% (S

We will now investigate the third form called: _ FACTOR ED  FOLM

y=a(x—r)(x—s)

Graph the following quadratic relation using a table of values:

y=2(x+1)(x~3)
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Locate the x-intercepts. What do you notice about the x-intercepts and the equation of the

quadratic relation? ]
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Why is this true? :
To solve for x-intercepts, we set £ . and solve! Refer to __ 9 | x+ )W;O
If ab=0 ,then_eodher _ A=GC o b=0
If (a+b)(c+d) =0, then

A quadratic equation in the form y=a(x— r) (x- s) gives us the x-intercepts.

The x-intercepts are also known as: [ 00’% oy _Z€roS.
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1. State the x-intercepts of each of the following:
a) y=-4(x-2)(x+6) b) y=%(x+3)(x—8) o) y=3x(2x-1)

x=2 or =76 —_="3 ¥ 4 X=C  ° A

2. Graph the following quadratic relation:
2 y= %(x—l)(x+5)
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